DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

Name:
Test Time: Score: y—
) —887.9 =10 = 0 —738.4 + (—1) =

2 =330.2+5=

5 37662 + 6 =

) —=3824.5+0.5 =

5 —84897 + 9 =

0 —12202 + (—4) =
11653 = (—1) =

9 —4134 + (=0.5) =
9 —=370.75+0.5 =
0 —30042 = (—-9) =
1 —=5360 + 10 =

12) —3326.0 +5 =

13) —842.4 +2 =

1) —0.26646 + 0.003 =

15 39524 + (—4) =

Mathematics: Division - Level 6 - Horizontal - Set 5
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567 = (—0.07) =
28.984 + 0.08 =
—121.95+0.5 =
4.2995 + (—0.05) =
—5661 + 10 =
—4017.5+5 =
10.74 +6 =
—2917.5+5 =
15998 =~ 2 =
260.22 =3 =
—9.818 0.2 =
—230.16 =7 =
1.1014 =+ 0.02 =

0.9966 <+ (—0.03) =
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